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1 Wha ;
P2 ho is known as father of Mac

A LM Keynes

(B} Adam Smin

€)  Marghal
Solow
}/ NNP maans:

(A} GOP - Depriciation
{B) GOP + Depﬁdahon
(C)  NNP - Depriciation
A2 GNP Depriciation

/V National incoma calculation ignores:

(A} incoma from liegal business
(B}  Workofa house wife
() Man Wlacturing

ABr Both (A} and (B)

4 Iadosed EConomy total expenditure is equal

lo.

“TA) CslsG

B Cel+Gex.m
(Ch C+lsx.m

0) CrGex.m
’§, Transfer payments include
(A} Pensigns
(B)  Unemployment allowanee
(C} Subsdies
/&D} Allof the above

6 "Restol word” 15 the major elemen: 15

Al Two Sector Mode!
(B)  Three Sector Model

,(,C} Four Sector Moded
0)  Allofthe above

7 Twea seclar economy consists of
3  Houstholds, Firms
(8}  Heusehold, Government
iCy  Fums Foregn Sector
o Fems, Goverrment
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National lncome i at equilibrium where:
Ay C=v+l+0
B C=v-1+6
) ¥Y=C-1+6
‘UJ] Y=04i+G
Relation

called:

(A}  Investment Function

(B} Saving Function
(C}  Accelerator
Q) Consumption Function

Average propensity fo consume is equal to;
C /Y
A8 sy

(YIRS

o AY/ AC
IFMPC is 80%, the value of multiphies is

(A &
(B) 45
) 3

between income and consumplion is

10.

1.

12

13,

RALRE R E R e

5

Induced investment is a function of; I
(A)
(B)
P
(D)

Rate of interast
Technalogy
Income

Government Policy P

Al C=Y+l+(

B) C=Y.i+G

iC}y Y=C-1+6

D) Y=C+l+6

¥ U W W B T e
(h) P e

(B) 497 wme

C) &

D) Imim wem

ahad swi wgfs fae & awm 8
Oy

B A

© Y

0 e

TP ® dEe mgi sk € @ e
B

)&

8 45

c 3

By s

ifem e for @t Fefd &

(ky @ ae
(8 dEE

©y e

0y wTwrd Afa

Unemployment, according to classical economist,

can arise due to:

AR Government interference
(B} Increase in money supply
(C)  Decrease in money supply
(D)  Trade Deficit

According to classical theory, saving is a function

of:
(A
AB)
(C)
(D)

Investment

Rale of Interest
Level of income
Oemand for money

“Supply creates its own demand.” is the idea of:

}  J.B Say
{B)  Samuelson
{C)  J.M. Keynes
(D) Milton Friedman

The concept of multiplier was firsl developed by:

Y

i)

J. KL Keynes
R F Kahn

16.

17

18.
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. The relation betwsan APC and MPC 1n Keynes g,
E:ychologmal Consumption funetion is:
)

B 6 s goam o % APC @
MPC < ApPC

MPC & wuy gitgal 2

(8) MPC=ApPG () MPC<APC
o e
D) Noneo
(©) fthalabc-va ©)  vaa & @ B
20, The vatue of MPG in Keynesian model is? L. Fdm dea § MPC &1 g 2
Eg; :Eg Er:ater than zero and less than one (A} MPC, Wi 91 3 ailv vh @ P
(C}  MPC greater than one (8)  MPC=1
(D} None of the above (© MPCT® R srivas
o o (D) T w1
/21. The formula for calculating simple multiplier is- A, g @ W &
A 11MPe (A} 14-MPC
B}  1MPC = mMPS (B)  1MPC = 1PS
(C) 111-MPS (C) 111-MPS
22, Which of the following equation is not true? 2. fym d @ m afigym Hel A5 g7
(B) 1-APC=APS {B)  1-APC=APS
(C) 1-APS=aRC {C)  1-APS=APC
(O} APC-1=aps (D) APC-1=APS
23, Effective demand is where- 23 gy A @ el g
-~ ] Aggrelgale demand 15 equal fg agaregate (Ay  wam W gua & wn s &
supply
(B} Demand for money is equal to supply of (B 5e1 A i ey @ T # s
money (G} @ad g @ {fﬁ &
(€} Saving is equal to suppiy 0) ST ¥ A #E 7D
(D) None of the aboye
24 Who introduced the term ex-ante and ex-post? 24 Exante 3 Ex-post fud g TR fhy m?
Eg% Pélyrdzl Ay fds
1Caran ﬁ *
(Cy  Malthus (®)
i) sl
D) Say N
23 The combined effect of multiplier and accelerator 25, T SR R B P @ e
< is denoted as: Ay ufa P
(Al Induced investment B)  Tw e
Super multiplier () dm ek
(C} Fast mu]ljplier [D} T ﬁaﬂ
(D} Autonomous Investment
26, Marginal efficiency of capital (MEC) means| 6. IR A e g MeC) @1 T &
#~ (A} Capital equipment's are efficiently used A I SOl @ e @ i B
(B)  High net Profits , B * EIC]
S Expected rate of retum from capital () m‘gw A fda vam &
investment (D) %@ adwm e
(D) Netpresent value
22 The term accelefalor was infroduceg by 2w R i R o
<7 (A LM Keynes (A} Slo o g
(B)  J M. Clark (B} o THo ward 3
(C) A H.Hansen {C) %o Fuo 2413 7
O R Hicks D) So INo faw 3
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28, In Indig national Inca

Central Statist
B N Aayoy
(C)  National Sampie Surve
D} None of the above

me is estimaleq by:
ical Organization

¥ Ofganiza!ion

Total of 9o0ds prody
) Aggregate of markef v

! ue of final s
. and services preduced during a yearqmd
(C)  Total production capacity of a country

(D} Total income of people.

jg, In the circutar flow of income mode firm:
(A} Receiver consumption expenditure and

makes faclor payments,

(Bl  Provider goods  and  services 1o
housenclds and receives factor Services
from them.

(C)  Pays salaries and receiver taxes.

B Both (A) and (B)

31, Macroeconomic involves the study of;
A Aggregates of an economy

(B}  Individual economic units

(C)  Partial equilibrium

(D} None of the above

The name of Keynes bock is:

Z

’LA] General Theory of Employment, Interest

- and Money
(B}  General Theory of Employment. Money

and Interest

(C}  Value and Capital
(D} Das Capital

33, Captalisa:
-~ (A} Stock Concept
(B)  Flow Concept
) Both (A)and (B)

(D) None of the above

4 Which of the following is not a method of
measuring National Income?
(A)  Production Method
(B)  income Method
»h)  Cost Method
(D)  Expenditure Method

28
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32.

33

34,
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28, i
Come is esiimated by

Centryl Statistica Crganizatign

(
B) NIy Aayoy
{ National Sa mple Surve

None of the above ¥ Organization

28, GNP may be defy :
—~ A ned as:

;Dtal of goods Produced in an economy
ggregat_e of market valye of final goo.ds
and services produced

durin aye
(Cy  Total production capaci Jo e
F pacity of
) Totali (o [‘tyo a country.

30 Inthe circular flow ofincome mode firm:
(A} Receiver consumption expenditure and

makes factor payments.
(B)  Provider goods ang services o
households and receivas factor servicas

from them.

(C)  Pays salaries and receiver taxes.

B} Both (A)and (B)
31, Macroeconomic involves the study of:

A1 Aggregates of an gconomy

(B)  Individual ecanomic units

(C)  Partial equilibrium

(D)  None of the above

‘}Z The name of Keynes bock is
,(ﬂ} General Theory of Employment. Interest
- and Money
(B}  General Theary of Employment. Mongy
and Interest
(C})  Value and Capilal
(D) Das Capital

33,  Capitalis a:
~~  {A) Stock Concept
(B)  Flow Concept
) Both (A) and (B)

(0} None of the above

Which of the following is not a method of
measuring National Income?
(8)  Preduction Method
(B}  Income Method
#)  CostMethed
{0)  Expenditure Method
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31

32,

33.
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S

36,
p2

38.

(A

39.

40,

41.

42.

Tertiary Sector of an econom .
(A)  Agricultureral and rniniz;gte el
(B) Manufacturing

) Services
(D) None of the above

According to Keynes the increase in consumption
and income ig:
(A) Non-proportional
(B)  Proportional
(C)  Constant
(D) None of the above
Stagflation means a combination of:
A} Slow growth and resing prices
(B} Slow growth and falling prices
(C)  Accelerated growth and falling prices
(D) No growth and no change in prices

The relative income hypothesis was given by:
J. M. Keynes

J. 8. Duesenberry

F. Modigliani

None of the above

~48B)
(€)

(D)

The demonstration effect means, that:
(A)  Consumption behaviour of individuals is
affected by their observation of other
whom they related to
Standard of living of individuals is affected
by the behaviour of others
(C) Income of individuals depends upon
income of others

(D)  None of the above

The concept of Inflationary gap is introduced by:
- (A) A.C.Pigou

) J. M. Keynes
(C) Milton Friedman
(D)  Samuelson

The concept of ‘Money illusion’ was given by:
(A} lrving Fisher

(B}  Arthur Okun

(C) P.A. Samuelson

(D} C.P.Kindleberger

Okun's Law establishes a refationship between:
(A}  Outputand emplqymem

(B) Interestrate and investment

(C) Unemployment and GDP

(D)  None of the above

(B)

35.

ar.

38.

Kic)
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43, IS~LMcurve analysis was\ﬁfodhced by:
(A} J. M. Keynes & Hicks
4B LR Hicks & Hansen
{C}  Pigoue & Marshall
O} P.A Samusison

44, IS curve represents:
(A}  Product Marke!
(B)  Equality between savings and investment

(C)  Eguality between desmand and
(0} Both{A)and () R

43, IS-LMtheory is:
<7 A An aternative 1o Keynes and classical

‘@ A synthesis of Keynes and classical
th

{C)  Improvement in keynesion theory
{D}  Improvement in classical theory
ﬁ, The LM curve represents an equality between:
{A)  Saving and investment
T (B)  National income and consumption
) Demand for money and supply of money
(D) Demand and supply of product

47.  Liguidity trap implied that:
{A)  Rate of interest cannol change
{8) Rate of interest cannot increase above a
particular level
(C) Rate of interest cannot fll below a
particular level
(D)  Liquidity cannot change

48.  "Trade cycle are purely monetary phenomenon”
was held by:
(A} F.A Hayek
(B) P.A Samuelson
(C} R.G.Hawtrey
(D) A H.Hansen

49.  Inabusiness cycle, the opposite of peak is a;
< (A Boom
(B)  Recession
~C)  Trough
(D)  Defiation

50. Which of the following types of business cycles
have the longer duration?
Ay Juglar cycles
(B)  Kitchen cycles
(€} Buikding cycles
(D) Kondratieff cycles

Series-A

43,

44,

43,

46.

47,

48.

49.
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<) dr 7 WY A ;

{0) ‘ﬂﬂqom
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(A) Wl ag

(B) ﬁﬁﬂﬂiﬁ

(© b
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Second Section WUg

5. Money | : f money”
Pre ¥ is that, which acts as a work © y.

51 mpp gz
Who said this? G198 & W 71 @ A Ry g P o
{g) Keynes {A) m
)} Marshall (B}
(©) g;ar;amwme ©
— ey Withers 0) B fred
3% Whichofthe tofowing is equation of Fisher? P
A p o e ? S 2. Pefaf H 9 @b w71 wrhwen @
)y i W b
— {B) p o MyiMV
C) p = PMsmv ==
T tc] P = M
(D) P =< My o H'I}-
P = -—
S3. Whatis the meaning of ' in Fi uali oore P
P ing of ‘P' in Fishers equabion? 8. MR @ ulaw & P 3w a8
oney standard il
(B} Pnce standard (A) T H wR
(€)  Quantity of money (8) FrE-wR
(0} None of the above € Targ
) o ) (0) S # & o 78
3% :’;;10 ls:aisu:;frof General Theory” book? S wAn W T e & das a8
o D
{C) Pigou
©) Ely iC) gg&
D)
;. Money as a medium of exchange represents: 5. fffmg &1 srom gz F0
y  Primary Funcuonl Ay R
{B)  Secondary Function (8 a7
(C)  Contingent Function ) e
(D} None of these © m &
_ : {0} iﬁ ® B T
ﬁ- The equation P = —— was propounded by: 56. P = S iEw W i e
15 4
B
{C) Pigoue :C)} ]
(D) Marshal o s
}ZV High Power/Reserve mongy according to R B.1 57 aﬂ'i‘og flo arfo & YRR T@ NIWE /T3
denotes: :
(A}  Currency with public ) E;T S & T A
(B) Deposits of commercial ang co-operaive B) Mo do e & ww TMfEE W
BankinR.B. . i TEE ST & S
’(Q Cash of these bank + other deposits O™ © dai § T8¢ + 3Ro o 3o F wE &
B.L i
(D)  Allof the above 0 ﬁq?“g;ﬁ i .
,‘rﬁ* The biggest Nationalized Bank in India " ;ﬂ}'ﬂ HRo miaanéo '
(A) g- E 1' B THo fo e
©) CBl (€ o dlo e
) NB.L (0} T dlo se
=" Exonomics / 112 Page-¥
Series-A |[
— .
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59, Which
- m?hmamdmmdm 59, o @ &4 % @ W afefa a9 &
(A Public Expenditure () e a
(B)  Fiscal Policy B) Ty Ay
§ St g
Vence
60, Which of the : ) -
s (A) M.mbmbpm‘mmn? 60. W#QMWWWWP
£ A
= KRM =
(D) P=MKY ;g]l P = KRM
61 “Money inftion is the situation in that valve of gy P = MK
maney is decreasing and X @ v ag sEeen @ ford g w g e
Definion g by & 1 PO a1 increasing AR RN G A
(A)  Prof. Gregory Ay Wo rh
(B)  Prof. Marshall ® o anfa
}Eﬁ mofumm e ?ngam?amw
(0}
62, Whal is the primary funclion of i
‘/ B ry of commercial 62 mmﬁﬂgmmg
(A)  Deposit
(B)  Loan Deployment @8 z:,r“:ﬁ” e o
(C)  Encouragement of savi € ArewTE
—B)  Allof the above e (0 St wh
63. "Reserve Bank is bank of banks” The statement 63 "3y & 44 &1 4@ 2 frmm mug 2
{A)  Prof Marshall flo 12
6 o oy o s
(D)  Prof. Pigou (O e b
} mmmmnlnhdiadoesmssueof 64 wra A e fenly @1 @ dhed wen @
#
((;; S.B.1. t (W ¥
) RB.L ®) & i e
(D) None of the above © Rl & s gftea
() Fda ¥ 2 @
ﬁ. When was first time nationalization of  65. wd ® Wuw v wrmfis $51 & vsfre e
~ Commercial Banks in India? fam 7
g o e
'{Ci pos B 1969
D) 1949 © 1%
(D) 1849
65 Author of *An Outline of Money” s: 66. v SCAE Sy AR D dhaw &
() J.N.Keynes ) % o @y
rowther
() Marshall (© ﬁ
(D)
Series-A Economics / 112 Page - 10
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67.  When was naliénalization of R. B. 1. done?
(Ay 1 January, 1950 6. ddn 85 Rad Ie @ vxhaewe oA fwa
(B} 1Janvary, 1049 Tar?
{C) 15 August, 1947 Ay 1wl 1950
@) 1 Api 1950 (B) 1 Sl 1949 N
(€) 15 W4T 1647 o
D) 134 1950
83 S . ut {
2 :slo)netasrygcfwtsacuuawd by which insituton? 68 fyp *ﬁfﬂ R g a0 ol 2
(8}  Co-operative Bank (A) W& In s g
(C)  Comemercial Bank @) “;T";?‘ ar
Central (Cy woiiE 4w
I sk _ 0 Ae
S State Bank ofndia s estabished in 69 wwdin e 3% oA e
{A) 1935 >
(B} 1949 (A} 1935
L) 1955 (B 1349
(D} 195 ) 1955
(D) 195
70.  Which of the foflowing functions is nol camed by 70, anuills &5 al4-+7 274 28 dem 2
Commercial Bank: (N AT R AT
(A} Loaning B) WA ¥l &4
(g} gccepting of depostts € & PEe
(G} redit control L E
(D)  Purchase and sale of foreign money @ fald g ‘}_ L
J}. Which function is under open market actwites? . ljé‘i e @ st & F-hor et T E T
A2} Purchases and sales of bonds o
{8} Depostts of money @y ofngfodl @1 a-fiaw
(C) Deployment of Loan (B) FE B AW BT
(Dy  Credit creation () M UG T
@ @ T o
72 The Natonal Bank for Rural and Agiewural 72 Igm gfi od yii Rwwe L (7%) @1 W4
~ Davelopment's main function is: FEE B
(A} Loan deployment for Industries (A)  TE W W ORI OIS
(B) Financial aid for banks ) B q@T W AT TR FTN
_§) toan for e and Agrcuthurat © PR e o Rpe D 09 W
development (D) &0 2 F RN ¢
(D)  Determination of rate of interest 7 frE @ GTET 2 T
Social advaniage is maximum when: ’ N ) y
j/?" A} Tolal cocal benels are equal b 10 (A) ?h;n ?'W an TR & I A
sacrfice ' e ey drra TS
(B) Total socii benefits are equal © margnal (B) ‘%3“ fg’“f‘m’ I TR
social sacrifica SR .
(C) Marginal social benefiis are equdl 10 © ma wmie A RR S A
/7 marginal social sacrifice . WERT ;Ezm ;:‘-
D} None of these (0§99 9 Dlg T
© by: 4. mpa e & ﬂmﬂgﬂ Awe
74,  Value Added Ta.x has been re_mmmaﬂd‘ed @) grEm affr & g
e {A} Bhoota Lingum pommntteg {B) an'iﬁc e otk & £
LK Jha Committee R
(C)  Chaiiaya Commilce ok ufR & g
i (G}
)] Rekhi Commiitee ; i
e Economics £ 112 age -
Senes-A
/""
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13, Oroclive of the public expendiure is: 75 - T
-~ (A} Economic Development o m R
(B}  Econemic Stability W i fer
(C}  Economic Equality (B) Al enflg
4B} Allof lhe above ¢y afdes wmaa
. D) ayal ey
76.  Difference between total revenue and ! [ ; -
~7" expenditure of the govt. is known as: o . ?thri o et ST T e ®
A} Fiscal Defcit B &
((g; Eevenua Deficil A el wrer
onetary Deheit (B) T wier
(D} Budgetary Daficit (€ sfem
o
7. Who s the inventor of Maxi B e e
© Adveniags theon of Maximum Social 77, a_ﬁ?-r-{fm winfas @ B fage @ afoues
(A} Pigou by 22
(B}  Marshall (A) W
~AC)  Dalton {B) e
D)  Keynes €y glesa
. 0} @
78,  Which f i isiri . _
= mmﬁm :;:e?m 'S ot distrbuted between 78, fim aR & G T dwn @ R B
(A} income Tax €la, &7
~B  Sales Tax (A) IR
(C)  Corporation Tax (B} fadraw
(@) Custom Duty (C) fom &
0] TN TR eh
79 Co i , _
) {A}noegti ;; :Inﬂahanary gap was propounded by 79, e amTad @ awen e waen T oo
(B) Wicksel (&) 5
A LM Keynes 8) e
(D)  Don Patenkin €} W o BN
(D) 7 afz=fes
. Canon of certainty given by 80. fafdumn & fgra A
}: (A)  Findiey Shiz) A s fires B
(C) Dalion s
(D)  Walker :g} W‘?’u =
j‘ ?::r‘::sir';ﬁ system increases tax by income 81 % l‘-rg;;ﬁi; Wy - ww A By A g
(B} Regressive Tax (8 I e
(C}  Degressive Tax SR @
’LD} Progressive Tax (C)
| o) wifadia e
82, Which tax system decreases the tax by 82 gifa-d @ uomeh amy e & W = F el
~ increasing income? Fh ¥
—tA]  Reagressive Tay gﬁm
i8]  Progressive Tax (A o
{C)  Proportional Tax (B) wade @
(D) Degressive Tax c)  srmfad w2
D CRICE T
(D)
Series-A Economics / 112 Page - 12
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N1 Yealwreoltaxis:
(A} Taxisvoluntary payment
) Taxis compulsory payment
(€)  Toxisimposed by sociaty
(0} Sorvice is provided against tax

84, Whatis concopt of tax shift
A Seli-taxppay e
AB)  Taxshilt on another

{C)  Taxevasion
(D) Avoid tax pay

85, Which of the folowing instruments is not of fiscal
policy?
(A} Tax Policy

481 Agriculture Policy

{Cy  Expenditure Policy
Dy Debl Pohcy

868, CENVAT s related with:
: Ay Custom Duty
iB) VAT
(C)  Cenlral Excise Duty
D) Central Sale Tax

VWho prepares the Budget”
~A)  Finance Minister

{8y Pnme Minuster

(C}  Commercial Minisier

{D) Home WMinister

Z

88, 'Budget word s created from

B3.

85

87.

88

as.

91.

wT an igm
(A tfps e £

By & s T 24

(€) < W g @Ml wmi L

(0) a4 @ gTa @ fen B
Be=faadd wr am ol 2
(A) W W IS EED

(B) & {HY W 4 &R

€} B¢ Al e

0) & & <an

Prfefm 4 @ alew T w0
JuEdT R

(hy = A

®  gh &

¢y Ta R

0y AT A

Fide [CENVAT) 77 #ial €
Ay e A

{C) & g T e
adg &4 ¥R &

(A} enid

B SHHA

€y T 54

0 D

wde W A sl A ma vl

(A} die

I

€ A

0 &R

B e e i I e Nt
LRGN

(B) @l

(cy WY

(0} A

“A Trealse on Money™ {000 =0 SUF S04 &7
iA) 6

B Sl

?C% Al

(0 @

WEARE M@ AT THA R T
(A I

(B) S
€y W
Dy 3W

treononnes £ 112

(A} Vagal
_iB)  Bougeltee
C) Baadz
{Dy Balat
go. Who did classification of effects of puble
" expenditure?
(hy  Pigou
B} Dalton
iC} Marshall
D) Keynes
Who is the author of the bock - Treabse
Money™?
A)  Hawtrey
B} Keynes
C) Sa i.‘rnan
Walker _ ;
91, \Ehal ig the main source of Public Revenue
~~ (A Production
(8) Consumplion
Tax
(D) Dedt
Series- A
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% V:hat isslé'le concept of the custom duty? 2. ¥t E R d
(&) rderline of states (&) w7 A A A
(B}  Agricultura production tax B FIRIEIm
»4€)  Exportand impont Lax at intemational lavel ® 7 R

(0)  None of the above € ¥ wR ot smra-frata v A
. ‘ (0) J9faT 4 9 2 T
. Whatis the Concept of Corporate Tax? 9. ¥ TR ow F W WA &
=<~ {A) Industriaf Production Tax A} s T 3
(B)  Agriculture Tax ’ ‘
(C)  Transport Tax :g; P o
) Companies and Co | T TG &
" 'LD, _ - i incoms Tax (0} wfyal o3 fym A sm W &
% Which debt is called ‘Friend of Calamities'? 9. dwz F1 wd o WO & T IR P
: gg; Public Revenue (A wdafys ana
Public Profit s _
) Public Debt 8)  wditn I
(D}  All of the above :g) mﬂldﬁfﬂfﬁpﬂﬁiﬂ
T 1
9}, Objective of fiscal Poticy is: g5, ﬂﬁ}féﬁtﬁu B 973w &
" {A)  Growth of International Trade A s @R WEe FT
(B)  Growth of Agriculture Production 8 3 Ja¢ oo
(C)  Effects of National Level Trade ® R g ; gt 7T .
DL Multdimensional Economic Development }g; ﬂTI'Q‘Rf N ﬁ%ﬂ? e
96.  When did Finanance Commission Organize? 8. fag aam @ 9 fFa o?
<) s PR
- {B) 1851 8 1951
(C} 1952 c
(D} 1956 in; o
7. Which of the following is not a function of Central 97. frfafa 9 ahy @ dda I & =F =&
. Bank? 24
(A}  Monopoly of note issue AT ferma & wifer
(B) Lender of the last resort of commercial :’;i i hﬁ; fre 3w s
Ban (€ waE-Fm L
43 Credit creation i
(D)  Credit control (0)  wra-Frm
88 Whichis notindirect tax in the given below? 9. =l ¥ o avcoy R AN R
© (A} MODVAT (A HIEde
(B) VAT B
(C) Sales Tax (C) fad &
~)  Income Tax (0) M &
99.  Shifting of all tax process is: 99.  g-RradT ulvm &
(A)  Movement from impact to incidence (A) I W TR
(8)  Movement from incidence to impact (B) @O W FER G )
(C)  Both of the above are possible €y THE I wE 3
D} None of these D) oM § g a8
100. Modified form of VAT is: 100. VAT & #9fg =y &
{(A)  Mnvat (A)
(8) Modvat B) W
(C)  Both (A)and (8) (C) (AT (B) T
(D} Nenecf these ) @ U B a8
HedE R
- 3 Page - 14
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